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Assignment 1


Question 1:  Analyze the number of products in each product category. In which category the competition is the strongest. Are the underdeveloped categories?

Answer Q1:  It has 76 different product categories in this industry and it has 260 products in this case. So, the average product category has 3 products. The strongest competition is in “Traditional” product category. Below is the table to show the top 6 highest numbers in product category. 

	Product Category
	Category

	Bluegrass
	5

	Certification
	5

	Crime
	5

	Hong Kong
	5

	Traditional
	6

	Writers
	5



From the top 6 highest numbers of product category, bluegrass, certification, crime, Hong Kong, and writers, all have 5 products in the product category. Since the traditional product category has 6 products in the product category, therefore the strongest competition is in “Traditional” product category. It seems the categories are not underdeveloped.

Question 2:  Analyze the number of products in each product family. In which family the competition is the strongest. Are the underdeveloped categories?

Answer Q2:  It has 21 different product families in this industry and it has 260 products in this case. So, the average product family has 12 products. There are 2 product families have same highest amount of products, which are “Action and Adventure” and “Biographies and Memoirs”. So, it has a big competition in the product family. Below is the table to show the top 9 highest numbers in product family.

	Product Family
	Product Family2

	Action and Adventure
	16

	Biographies and Memoirs
	16

	Audiobooks
	13

	Home and Garden
	15

	Arts and Music
	14

	 
	 

	Classical
	14

	Computers and Internet
	14

	Country
	14

	Health Mind and Body
	14

	History
	13

	 
	 

	International
	13

	Jazz
	14



From the top 9 highest numbers of product family, “Home and Garden” has 15 products in this family. The others product families have 14 products in their families. Compare to “Home and Garden” and the others product families, “Action and Adventure” and “Biographies and Memoirs” have 16 products in their product families. Therefore the strongest competitions are in “Action and Adventure” and “Biographies and Memoirs” product families. It seems the product families are not underdeveloped.

Question 3:
Let’s assume that the PRODUCT SKU column contains the profits from selling a product. Find the most profitable product category and product family.

Answer Q3: I assume this question is asking a product, which has the most profitable in product category and product family. Below are the tables showed the top 3 highest PRODUCT SKU in product category and PRODUCT SKU in product family.

	Product Category
	Product Sku

	Data Warehousing
	99,600,199,233.

	Indie
	98,010,099,898.

	Reggae
	98,498,154,651.


	Product Family
	Product Sku

	Computers and Internet
	99,600,199,233

	Alternative
	98,010,099,898.

	Computers and Internet
	99,600,199,233.

	International
	98,498,154,651.



After compare with two tables, the top highest PRODUCT SKU in product category is Data Warehousing and product family is Computers and Internet. Below is the table showed the top 4 highest PRODUCT SKU in product category and product family.

	Product Category
	Product Family
	Product Sku

	Data Warehousing
	Computers and Internet
	99,600,199,233.

	Reggae
	International
	98,498,154,651.

	Reggae
	International
	98,134,093,057.

	Indie
	Alternative
	98,010,099,898.



The top highest Product sku is $99,600,199,233, which is “Data Warehousing” under Product Category and  “Computer and Internet” under Product Family.

Question 4:
Which product category and product family would you suggest to your boss as the most promising. Justify your answer. Feel free to discuss different options.

Answer Q4:
The data only show the profits from selling a product, but it does not show any cost from selling a product. When I suggest the product category and product family to my boss, I would show the total profits in product category and product family. Below is the table showed the top 3 highest total PRODUCT SKU in product category and product family.

	Product Family
	Product Category
	Computed

	Action and Adventure
	Espionage
	300,084,296,745.

	Drama
	Crime
	299,429,820,830.

	International
	Reggae
	372,945,914,549.



From the above table, the highest total PRODUCT SKU in product category is “Reggae” and product family is “International”. From the answer of question 3, under the product category, “Reggae” has 2 products, which are ranked in top 4 highest PRODUCT SKU. Under the product category, “Reggae” has 4 products, which are “Let’s Face it”, “Babylon By Bus”, “Double Barrel”, and “Aye”. Below is the table showed the profits of these 4 products.

	Product Name
	Product Family
	Product Category
	Computed

	Let's Face it
	International
	Reggae
	98,498,154,651

	Babylon By Bus
	International
	Reggae
	90,079,473,029

	Double Barrel
	International
	Reggae
	98,134,093,057

	Aye
	International
	Reggae
	86,234,193,812



Under the product category, “Reggae” seems to have high quality in their products and spend money on the promotions. So, it has highest total profits in this industry. Therefore, I would suggest my boss to invest in this product category and product family.

Question 5:
Identify the major competitors on the publishing market and rank them. What are the criteria that you consider when ranking those publishers? Feel free to discuss a number of different rankings. Justify your answer.

Answer Q5:
The criteria for ranking those publishers are the total profits of each publisher, multiple product families for the publisher, and multiple product categories for the publisher. Assume the publishing market are those books publishing industry.


Below is the table showed the top 20 highest ranking on the total profits of each publisher:

	Computed
	Product Publisher

	553,805,487,033.
	Random House

	548,385,351,266.
	Warner Studios

	528,205,704,286.
	Paramount Studios

	298,735,160,881.
	MGM Studios

	275,539,944,680.
	Polygram

	243,801,449,591.
	Simon & Schuster

	242,400,177,769.
	Warner Brothers

	218,665,080,032.
	Knopf

	208,013,163,858.
	Sony Music

	205,569,308,313.
	John Wiley and Sons

	187,974,392,685.
	Mca

	185,211,731,020.
	IDG Books

	184,424,156,459.
	Disney Studios

	170,615,511,449.
	Houghton Mifflin

	167,386,758,608.
	Twentieth Century Fox

	165,354,471,943.
	Harper Collins

	158,473,601,850.
	Viking Pr

	156,975,229,523.
	Penguin Audiobooks

	154,645,950,111.
	Bantam Books



The highest ranking publisher is “Random House”, which has $553,805,487,033. Below are the table showed the publishers whose have more than 2 product families and 2 product categories in the industry.

	Product Publisher
	Computed(Product Family)

	Bantam Books
	3

	IDG Books
	3

	Knopf
	3

	Random House
	6

	Simon & Schuster
	3


	Product Publisher
	Computed(Product Category)

	Bantam Books
	3

	IDG Books 
	6

	Knopf
	6

	Random House
	11

	Simon & Schuster
	5



The highest ranking publisher is “Random House” which has 6 different product families and 11 product categories in the industry.

Question 6:
Select 5 major competitors on the market. In order to analyze those companies you are looking for similarities/dissimilarities. Calculate those similarities. Are there publishers that seem to have similar strategies.

Answer Q6:
To calculate the similarities, I would use (a) is the total profits of each family higher than 200,000,000,000? (b) is the publisher has over 5 product family in the industry? (c) is the publisher has over 3 product categories in the industry? Those five publishers are books publishers in the industry.

	Product Publisher
	Profits
	over 5 in product family
	over 3 in product categories

	Random House
	1
	1
	1

	Simon & Schuster
	1
	0
	1

	Knopf
	1
	0
	1

	IDG Books
	0
	0
	1

	Bantam Books
	0
	0
	1



Dot –Product (Random House, Simon & Schuster) : ( 1*1 + 1*0 + 1*1 ) = 2


Dot –Product (Random House, Knopf) : ( 1*1 + 1*0 + 1*1 ) = 2


Dot –Product (Random House, IDG Books) : ( 1*0 + 1*0 + 1*1 ) = 1

Dot –Product (Random House, Bantam Books) : ( 1*0 + 1*0 + 1*1 ) = 1

Dot –Product (Simon & Schuster, Knopf) : ( 1*1 + 0*0 + 1*1 ) = 2


Dot –Product (Simon & Schuster, IDG Books) : ( 1*0 + 0*0 + 1*1 ) = 1

Dot –Product (Simon & Schuster, Bantam Books) : ( 1*0 + 0*0 + 1*1 ) = 1

Dot –Product (Knopf, IDG Books) : ( 1*0 + 0*0 + 1*1 ) = 1


Dot –Product (Knopf, Bantam Books) : ( 0*0 + 0*0 + 1*1 ) = 1


Dot –Product (IDG Books, Bantam Books) : ( 0*0 + 0*0 + 1*1 ) = 1


It has great similarity in the competitions. The greater number, the greater similarity. From the above data, Random House and Simon & Schuster; Random House and Knopf; and Simon & Schuster and Knopf has number 2 in dot-product. Therefore the Random House and Simon & Schuster; Random House and Knopf; and Simon & Schuster and Knopf; all have higher similarity.

Question 7:
Can you find a way to display those 5 major competitors in a 3D space?

Answer 7:
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From the above 3D graph, ( is equal 45( and ( is equal 45(.


The law of cosine is equal (a)2 = (b)2 + (c)2 – 2(b)(c) cos (a)
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The smaller angle means the greater similarity. Random House and Simon & Schuster; Random House and Knopf, have 41.1( of angle. The angle is smaller than the other angles, which have 45(. Therefore the Random House and Simon & Schuster; Random House and Knopf, have greater similarity.
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